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(e) tfr fsin� +sin(90+0)+sin (180+0)+ sin (270+0)=0
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(a) ufe U =(a,b,c,d, e, f, g,h} atA={a,b,c}

A
8

sgt

4x +i(3x- y) =3+i(-6)

(c) 10!- 7!T4TTAITfri
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yeftfa for� yaftxeR

(b)t*Znc,:"c,=12:1 trrT nTHTTETTI

(c)f¢A= {1, 2,3},B={3,4} rT C ={4, 5,6} tr arAx
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(a)fra tfary ft(cosA -cosB+(sinA-sinB)²=4sin?
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(3) A

(c) fra fhf cos8 sing
cot530

cos8°+ sin8

(d) Rra fifo� fh sin(A +B)=cos(45 -A)cos (45-B) -sin(45-A)
sin (45 -B)

(f) tan HH GfTI

(a) cos'x + cost(x+)+cos?(x -)=2 ra farq�
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(b)rgABC*frE f
tanA +tanB +tanC=tanA -tánB - tanC

(a)fraf Sinbx - 2sin3x +sinx=tanx
cos5x- COSX
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